H & 0l & AHS B Ml A

FA: Aot AIE A
MR AGHAE A
TRl ASTAIE(A - SIEZAIISE S| H) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 45,478,817 27,855,549 17,623,268
= 22,236,800
[ 6,321,600
= 2,562,820
Ea 14,357,597
oot Ad 37,418,041 21,532,780 15,885,261
= 22,236,800
[ 6,321,600
= 2,562,820
= 6,296,821
AT AIE(Y - SIEZAISESA) 8,906,555 4,500,576 4,405,979
= 6,321,600
[ 1,278,420
T 1,306,535
A== AlE 21,335 21,897 AB62
201 er2 3| 11,415 13,897 N2,482
01 At2t2lt] 3,672 3,600 72
Na=EAIE FRFE OHA
8,000 6 *543] 2,592
Nat=ZAlE ARS8E7Y
90,0002~ 122 1,080
02 s3=gHl 7,743 10,297 A2,554
DX | 2| 100,000& =10 1,000
Nxte ezl 1,50694%213]*1CH*522] Ef 1,743
NEAL 222/l 5,000,000& 5,000
202 048l 7,920 6,000 1,920
01 2L AL 7,920 6,000 1,920
Na=CAE R U0
60,0002 x6& »223] 7,920
203 gF=4| 2,000 2,000
03 A=A 2= 2,000 2,000
NEoAR L olatets &5
100,000& *202] 2,000
=T AIEXH 22,000 22,000
401 A& HIX R0 22,000 22,000
01 AlZH| 22,000 22,000
Nalotz =CHHIDIZ2HE 8
22,000,000 22,000
SENASRINE(ERX) 6,691,520 2,860,739 3,830,781
= 6,321,600
= 169,920
o 200,000
401 Al HIZ S OHbI 6,691,520 2,860,739 3,830,781
[ 6,321,600




FA: Aot AIE A
M Motecols
TR AT AIE (A - St AIHSESIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 169,920
s 200,000
01 Al&H| 5,200,000 2,755,996 2,444,004
DEAARIHLAY 5,200,000,000& 5,200,000
= 5,000,000
o 200,000
02 Zeltl 1,461,500 82,628 1,378,872
NEMA=ZONLAIY 22l
1,461,500,000& 1,461,500
[ 1,295,000
= 166,500
03 Al 20HHI 30,020 22,115 7,905
NEMARINL AN 30,020,000& 30,020
= 26,600
== 3,420
AdEX XS (HEAY) 2,171,700 1,117,940 1,053,760
=S 1,108,500
s 1,063,200
401 AIEHIZ SR THYI 2,171,700 1,117,940 1,053,760
== 1,108,500
[Ea 1,063,200
01 Al&H| 1,526,900 1,031,940 494,960
NA>HEX>XES 1,526,900,000& 1,526,900
& 700,000
= 826,900
02 Zeltl 631,000 72,500 558,500
[DERERSEEYSENES = 631,000,000& 631,000
= 400,000
o 231,000
03 Al 20HHI 13,800 13,500 300
NA=HEM=XES 13,800,000 13,800
[ 8,500
T 5,300
St A (4 - St AISSESIA) 28,511,486 17,032,204 11,479,282
= 22,236,800
[ 1,284,400
Ea 4,990,286
St=AlE 2,772 3,048 N276
201 el 1,512 1,848 A336
01 At22t2lt] 1,512 1,848 N336
1)5t=Z Al DHAIH 8,000 38 +383] 912
1ot AlE AIREE7YHI
50,0002 123 600




FA: Aot AIE A
HH: MGl AA
Tl BIRTAIE (A - SIEZAI S S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 1,260 1,200 60
01 2LHoIH 1,260 1,200 60
Not=E A ZRF=E 0]
60,0003 3 +73] 1,260
ECYENAsHENSSTHEI(EX) 2,124,400 1,462,000 662,400
= 2,085,000
= 39,400
401 Al HIZ R 0HbI 2,124,400 1,462,000 662,400
= 2,085,000
= 39,400
01 Al&HI 2,124,400 1,292,105 832,295
NEE 9&8XF sHEDISt+E FH|
2,124,400,000& 2,124,400
= 2,085,000
== 39,400
SN FsHEMSGSHEI(EX) 1,896,400 1,421,000 475,400
= 1,845,000
= 51,400
401 Al HIZL S 0HHI 1,896,400 1,421,000 475,400
= 1,845,000
= 51,400
01 Al&H| 1,896,400 1,179,148 717,252
NEx XGXF sHELStE FHl
1,896,400,000& 1,896,400
= 1,845,000
== 51,400
SLGIH EsHEOES SIS FHI(EX) 1,253,400 1,338,000 84,600
= 1,223,000
= 30,400
401 AlZHIZ SO 1,253,400 1,338,000 84,600
= 1,223,000
= 30,400
01 Al&HI 1,253,400 1,151,873 101,527
&4 olEHE sHE0S6E FHIAY
1,253,400,000& 1,253,400
= 1,223,000
== 30,400
SN EsHENSSI+=EFHI(EX) 562,000 1,593,753 /1,031,753
= 556,000
= 6,000
401 Al HIZ S OHbI 562,000 1,593,753 /1,031,753
= 556,000
= 6,000
01 Al&HI 562,000 1,369,988 /807,988




FA: Aot AIE A
HH: MGl AA
Tl BIRTAIE (A - SIEZAI S S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEM BHE sHENSH+E ZHIAY
562,000,000& 562,000
= 556,000
[ 6,000
HIZREXNRSHEOSO+SHBI(EX) 2,427,400 1,687,000 740,400
= 2,372,000
= 55,400
401 A2 HIRL R 0HbI 2,427,400 1,687,000 740,400
= 2,372,000
= 55,400
01 Al&HI 2,427,400 1,393,893 1,033,507
DHIS ABX7 SHE0IS5+E FHIAL
2,427 ,400,000& 2,427,400
= 2,372,000
& 55,400
EMTTot=Zot=2Z2FHI(EX) 444,714 1,547,000 1,102,286
401 AlZHIZ SO 444,714 1,547,000 1,102,286
01 A28l 444,714 1,358,238 A913,524
&4 S36tE ot=22 FHIAIY
444,714,000 444,714
NS Iot=HeANESE(EX) 634,400 2,338,135 1,703,735
= 382,000
== 52,000
o 200,400
401 A2 HIRL R 0HbI 634,400 2,338,135 1,703,735
= 382,000
S 52,000
o 200,400
01 AlZ2H| 634,400 1,824,016 1,189,616
NYX S3ot=HelAlE SEAY
634,400,000 634,400
= 382,000
= 52,000
o 200,400
XS Bot=Tot+-2 2 HH|(EX) 3,601,000 896,000 2,705,000
= 3,601,000
401 AIEHIX SO 3,601,000 896,000 2,705,000
= 3,601,000
01 Al&HI 3,601,000 523,934 3,077,066
N 33ot+=E o2 FHIAIY
3,601,000,000& 3,601,000
= 3,601,000
SMARIXIFsHELISSHEEHI(EX) 757,600 2,289,000 A1,5631,400
= 102,000




FA: Aot AIE A
HH: MGl AA
Tl BIRTAIE (A - SIEZAI S S| H) (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 185,600
s 500,000
401 Al HIZL 01| 757,600 2,289,000 A1,531,400
= 102,000
== 155,600
[Ea 500,000
01 A<l 757,600 1,943,527 A1,185,927
NEA ARRINIT SHE0ISSI+E AL
757,600,000 757,600
= 102,000
== 185,600
o 500,000
AloH O ) 2 MelAlE &S (EX) 5,273,800 368,000 4,905,800
= 2,639,800
s 2,634,000
401 Al HIZ 2018 5,273,800 368,000 4,905,800
= 2,639,800
Ea 2,634,000
01 AlZHI 4,969,008 364,523 4,604,485
DaloH o) EMelAlE EEAY
4,969,008,000& 4,969,008
= 2,337,008
a 2,632,000
02 2l 302,792 0 302,792
NaloH o) ExXMelAld EEAt
302,792,000 302,792
= 302,792
03 A& CHYI 2,000 3,477 A1,477
NaloH o) BEaXMelAld EEAY
2,000,000& 2,000
ExHENRsHENSHEFEI(EX) 3,120,400 221,000 2,899,400
= 2,999,000
< 121,400
401 AlEHIZ S 0HbI 3,120,400 221,000 2,899,400
= 2,999,000
= 121,400
01 AlZHI 2,859,174 199,34 2,659,780
NEXE =817 sHENSo=E ZHIAY
2,859,174,000& 2,859,174
= 2,737,774
S 121,400
02 Zeltl 261,226 20,807 240,419
NEx 817 sHENSoteT FHIALY
261,226,000 261,226




FA: Aot AIE A
HH: MGl AA
Sl BIATAIA(A - BHAEAIL S| H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 261,226
HIZ&XXR=sHENSO+SHBI(EX) 1,632,000 210,000 1,422,000
= 1,134,000
= 99,600
Ea 398,400
401 AIEHIX R0 1,632,000 210,000 1,422,000
= 1,134,000
= 99,600
= 398,400
01 Al&H| 1,145,743 189,420 956,323
N2 XX+ sHEDISE ALY
1,145,743,000& 1,145,743
= 647,743
= 99,600
= 398,400
02 Zeltl 486,257 19,819 466,438
NHIS SXIXF sHE0SoE FHIALY
486,257,000 486,257
= 486,257
FUBIRNPsHEOSS+=EEHI(EX) 1,606,000 265,954 1,340,046
= 1,249,000
& 357,000
401 Al HIZ S OHYI 1,606,000 265,954 1,340,046
= 1,249,000
= 357,000
01 Al&HI 1,606,000 265,000 1,341,000
NEL WA sHEOISS=E ZHIAY
1,606,000,000% 1,606,000
= 1,249,000
=S 357,000
NERsSXA=sHELSS+SEH(ER) 1,020,200 201,622 818,678
= 772,000
< 248,200
401 AIEHIX R0 1,020,200 201,522 818,678
= 772,000
= 248,200
01 AlZ8| 1,020,200 200,800 819,400
NAE NHsSX7 s0ELSSHE FHIAY
1,020,200,000% 1,020,200
= 772,000
=S 248,200
LOMENM X R sHEDISOI-=EZHI(EX) 686,000 208,146 477,854
= 480,000
< 41,200




FA: Aot AIE A
HH: MGl AA
Tl BIRTAIE (A - SIEZAI S S| H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 164,800
401 AIEHIX 20 686,000 208, 146 477,854
= 480,000
= 41,200
= 164,800
01 Al&H| 685,000 207,400 477,600
Nalel AEHAMXIT SHEOSot+=S FHIA
& 685,000,000 685,000
= 480,000
= 41,200
= 163,800
03 AIZSTHYI 1,000 746 254
NAlS] MEHATIT SOIEDEEEE FHlA
& 1,000,000& 1,000
UNE S AsHEDSSHEHBI(EX) 167,000 340,918 173,918
= 100,000
= 13,400
o 53,600
401 Al HIZ S OHbI 167,000 340,918 173,918
= 100,000
= 13,400
[Ea 53,600
01 Al&H| 166,550 340,000 173,450
NEX 25X+ s0lE0S6s== 8l
166,550,000 166,550
= 100,000
= 13,400
o 53,150
03 AIZ S THYI 450 918 A468
NeX 2SXF sHEOIS0+=Z gl
450,000 450
ANESMNPRSHEDSEHBI(EX) 217,000 340,918 A123,918
= 100,000
=S 13,400
s 103,600
401 Al HIZ R 0HbI 217,000 340,918 A123,918
= 100,000
= 13,400
Ea 103,600
01 A28l 216,550 340,000 A123,450
N2 S4XF sHEDISoE FHI
216,550,000 216,550
= 100,000
= 13,400
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FA Aot AIA
M ASiECaTR
SRl AT ERI(4 - ST A SEE|H) (Srol: 22)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
NEf=Xl RFH =+=2(X <, 2o, 55)
100,000& *3H A x 12 3,600
NatsE 2A2IA HEH]
1,000,000 %139 2 13,000
Nat=E 22Ab K22l
300,000 * 1304 A 3,900
202 04l 28,800 20,000 8,800
01 2LHoIH 28,800 20,000 8,800
Na=E 8 FEZAL2] o
60,0002 x10& *12& 42 28,800
206 MH=H| 1,166,255 786,135 380,120
01 MZHl 1,166,255 786,135 380,120
NEZBAE Hag 7
1,500 *150JH* 1000 2 2,250
DAZAME Al 7Y
45,0002 * 1370 2~ 585
NALE ASE Y7
250,000 * 1004 2xx 12 30,000
DALl HI4SE e
100,0002 %1304 2 1,300
NEEY BANST 252 93
4332 +7,100E+365 1,122,120
=0l 7
50,0002 *107H* 107K 2= 5,000
Na=E M, 25 7Y
500,000 * 100K 2 5,000
HrERIF 122,400 128,020 A5,620
201 Zet2d] 122,400 128,020 A5,620
01 AlR2telHl 18,000 20,020 2,020
Nasl+=E 23 20 DA 7L
9,000,000& 9,000
Nes &38| 1= 700,000 x 122 8,400
Ne=a =0 2l
200,000 x3E «1CH 600
2 s3=234l 104,400 108,000 /3,600
N&Sts=E 22 Z20 S22
850,000& 122 10,200
ISR SE2M 0182
350,000 12 4,200
N&6E RIDIN EZ
500& *15,0000H*12& 90,000
dEAEE2] 832,350 1,015,000 182,650
101 @124H| 127,350 117,000 10,350
M IItHZZ2NSE 127,350 117,000 10,350
)OI tAF FHI Q12
150, 0002 62 42|« 137 2 46,800




S ABIRE AR
e e Tl
CHO: AICER| (A - OIREAIYSE S| H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NE=% FHl 22
150, 0002 «32 *32| * 137 2 17,550
NA%E 2E o= (A, HIS, B3, o)
150,0002 x7EH+53|x 12 63,000
401 Al HIZL R 0HHI 705,000 898,000 193,000
01 Al&HI 705,000 898,000 193,000
NOUAES K HFEL
17,000,000 * 1094 2~ 170,000
1OIDA FIIH At
7,000,000 * 1090 £ 70,000
NFE-ZS" L IIANEES
10,000,000 * 1094 2~ 100,000
Na=c AEE 2(83, JIIM0, g
A S) 10,000,0002!107H £ 100,000
D4R L Be S 2327y
500,000 *40024 200,000
DA%E WX HAR
5,000,000& #1371 2+13] 65,000
a2l 565,319 646,474 A\81,155
201 Ler23 | 398,719 339,874 58,845
01 At2t2ltl 30,719 29,874 845
NARRASE 2 BIIZAL
60, 7003 3404 A +23] 4,128
NARRASE R HEAA
277, 700217 %13 4,721
NARRAE = 2IIZA
67,1003 *34 I 2 %42 9.126
NARRASE Hap H2H2AL
374,800 *34 A +13] 12,744
02 S3=4gl 368,000 310,000 58,000
NARRALT SXB2 42
11,500, 0002 329 A~ *13] 368,000
206 M=l 36,600 36,600
01 M= HI 36,600 36,600
NATSULT ASUHE (X))
150,000 #3404 2 5,100
NARDASE HULE 79
1,500,000 210K 2= 31,500
401 AIEHIX R0 130,000 150,000 A20,000
01 A28l 130,000 150,000 /20,000
NaRLasE 2857 130,000,000& 130,000
oot 455,400 455,400
201 =3 266,400 266,400
02 S52g4l 266,400 266,400
Nal=EstAld 123
204,000,000 204,000




FA: Aot AIE A
M AT AR B
CHO: AICER| (A - OIREAIYSE S| H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NARRASE RS
400,000& * 134 A x 12 62,400
401 AIZHIX R0 189,000 189,000
01 AlZH| 189,000 189,000
Nol==E=StAIE 2
9,000,000 *217H 2~ 189,000
CAA=RONEXR 1,220,000 238,000 982,000
401 AlEHIZL SO 1,220,000 238,000 982,000
01 Al&HI 1,220,000 238,000 982,000
NOHE OF XYALE 2EHH 22/9 o
HEX EX 650,000,000 650,000
DRZALE 22N SYal X (LR
25 2 Thx 15,000,000 *8IH 2= 120,000
NAga-E HUNNMNEH ALS B
37,500,000 #4JH 2 150,000
NEXH ANDES =& &2t2 Wi
300,000,000 300,000
g ANESHEAEIHES 198,000 88,000 110,000
401 A& HIX R0 198,000 88,000 110,000
01 AlZH| 198,000 88,000 110,000
NAAE AEE BLAHHTY 8
22,000, 000& *93] 198,000
St=2el (4 - St=ZAIESEE) 1,629,056 1,159,990 469,066
ot=Z 2| 48,276 34,082 14,194
201 2= 4,0% 1,872 2,184
01 AtR2t2lt] 4,0% 1,872 2,184
1ot=C2te| RFE HA
8,0002 0 »383] 2,736
1)ot=E2el ARSEE P2
110,000& * 122 1,320
202 O4H| 44,220 32,210 12,010
01 2K 38,940 21,650 17,290
Not=Z 22| GRF2 A0
60,0002 9 »653] 35,100
ot AlEE2te] 22 I
60,0003 x2&H #3235 3,840
02 A0 5,280 10,560 A5,280
1)ot=xeld 2tel N0
220,000 «2H 122 5,280
ot=SEXCIAIZ 2] 1,580,780 1,104,668 476,112
101 e124d| 5,760 7,200 1,440
M ORNZZ2NSE S 5,760 7,200 A1,440
1)335t=HelAlE AIES FHI LAIAIEQ
£ 180,000 «8& *22| x2)H A 5,760
201 Ler23| 567,540 594,188 N\26,648




S ABIREAIYA
B AplAc ez
oel: St 2el(4 - St AIESEEIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 291,400 361,240 69,840
Jot=BLHeIE AZS I 7
5,000,000& 5,000
1)ot=E 2SS SALAL L=
320,000 %10 3,200
N33ot=HelAe 28 885 7Y
300,000 #4042 1,200
NeszAN feHe 242
110,000,000 110,000
DR, Yol 2EMS SAES 248
43,000,000 *2JH 2 86,000
DA, 2ol ™S EEZA === S(HHALE
) 10,000,000& *13] 10,000
NRS, 2o, U St LR
60,0003 x22*119& 14,280
DX, o, 2R, Sa =2
60,0002 x2H *3662 43,920
1)330t=xelAlE 22l SAHE LISt
300,000 x13&+23] 7,800
1)ot=HelAd A=Y
5,000,000& 22 10,000
02 S3=gHl 276,140 232,948 43,192
1ot Held HASUs
2,500,000 *40H 2= 10,000
Not=SLxMeld | AB=
15,000,000& «12& 180,000
1)335t=HMelAld KT S8 &
3,200,000 12& 38,400
DHIAZHD| A=t 2,400,000& 2,400
N&CIAL 22 | 24|
300,000 #4042 1,200
N2EXNY SN2 1,000, 0002 *2CH 2,000
N2 A= 1,200, 0002 2CH 2,400
NS CHt 150,000 2CH 300
et =2 46t=5 EalHI(H13])
1,640,000 1,640
oSl & BT MI|otE2
cICH&BI (500 4) 380,000 *50H A+ 123 22,800
Not=ZSLHelAd MIESHIILH ZI1E
A =g 500,000 *42] 2,000
Not==RNI| S2SA =42
3,000,000 *40H 2= 12,000
Dote U BRHIAL SEtH ST 44
= 50,0003 *42|*50H A 1,000
206 MH=H| 56,480 59,280 /2,800
01 M=4l 56,480 59,280 22,800
ot HelE A Al & IR 2
=t 37,0002 x305+43| 122 53,280




MOHEE A A
Ao E4=A 22|
ol=C el (Al - St AL E-ESIA) (G2 &2l)
. _ S[E]
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
NZHS2 AR F5ED 2L (XLl
SR EAH 800,000 x4 2 3,200
307 SIZH0| & 182,000 182,000
05 BIZIRES 182,000 182,000
1)ot=SUXCIAlE ASA 22|
182,000,000 * 101 A 182,000
401 A& HIZE20H| 549,000 444 000 105,000
01 Al&H| 549,000 444 000 105,000
NHSLH2IAL(4HL) SSE2H
25,000,000& *44 2~ 100,000
1)ot=HelAlE (A0 MAIE 2S84
100,000, 000& 100,000
1)ot=HelAlE(400A) =5 ol B
100,000,000 100,000
1)otEHelAlE JIsRS FI0T0E S2=H|
239,000,000 239,000
NHEIAE /s Hited
2,000,000 504 &~ 10,000
405 KHAFRISH 220,000 220,000
01 AL EEFSHI 220,000 220,000
NEZEABE ELx 7Y
220,000,000 220,000
OlSotES (4 - SIS AIHEE 5| H|) 415,554 399,310 16,244
OtSoteXelAlE2te] 415,554 399,310 16,244
101 121b| 7,920 15,840 AT7,920
M JI2HHI2E2XEE 4 7,920 15,840 A7,920
1)0ISotEHEIAIE AES LAIAIE OIS
110,000 x22 %36 A 7,920
201 LB AYH| 126,800 121,100 5,700
01 AFR22t2|d] 1,800 1,800 0
1)0tSot=HelAld A2E I 22
50,0002 x36H 2 1,800
02 2224| 125,000 119,300 5,700
1)0ISotE=XHEIAE ®D| 22
10,000,000& « 12& 120,000
NS A 2,000,000 «1CH 2,000
NS HA2H| 2,000,000 = 1CH 2,000
N1 SAE2=H| 1,000, 000& =1CH 1,000
401 A& H|IZLE0HH] 280,834 262,370 18,464
01 Al&H| 280,834 262,370 18,464
1)0ISot=HelAl & (36IA) S22 44|
100,000,000 100,000
1)0tSotEHElAlE JIs8IC| (B, 24,2
=) 20,000,000 *30H 2 60,000
1)0ISotE=HelAlE 22 J|s=8cH| (3t 2
YOLENS) 8,631,000 *14km 120,834




FA: Aot AIE A
M AT AR B
EI9: SEANGATRR(4 - ST ARSHEN) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SRAUMGI=Z 22 (Y - St=SAFESESI ) 180,100 0 180,100
SRt 2l 100,100 0 100,100
101 @124H| 18,360 0 18,360
M IRINZZENSES 18,360 0 18,360
NGl AIES il LAANSFARY
150, 00024 +424113] 6,600
NASE HE LAIAEIRY
980,000 x 123 *1 11,760
201 Ler23 | 64,100 64,100
01 At2t2ltl 59,420 59,420
NEfAa6teE YRH(XE, LX)
60,0003 x2ZH*119& 14,280
ERALMGILT SEH|(XE, AT
60,0002 x22H *3652 43,800
NE2 =EBX ZAk 21,6002~ 12& 260
NS2A Y5lEE ALBETY
90,0002~ 12 1,080
2 s5=34l 4,680 0 4,680
a2l X SR
3,000,000 3,000
Naot=C2te| Xe X2+
500,000 *3CH 1,500
Nt 2 MASUS
60,0002 *3CH 180
202 04l 17,640 17,640
01 =LHOHI 12,360 12,360
NE22 4ttt PR U0
60,0003 »223] 3,960
2R AsleE 2REF 22X 2 oi
60,0003 x4 »353] 8,400
02 XN 5,280 0 5,280
Not=CAIEES JAISEX X0
220,000 «2H 123 5,280
SFRAYoI=EAES 2 80,000 80,000
401 AIEHIX R0 80,000 80,000
01 A28l 80,000 80,000
Ne=E 857 & SFAE 24|
30,000,000& 30,000
1ot=SLXeIANE & 2tz SSExH
50,000,000 50,000
k=S fal 304,836 414,6% A109,820
OS5t E (4 - St AISSE3H) 304,836 414,6% /109,820
2t 160,400 222,720 N\62,320
101 ©1AH| 1,500 2,250 AT50
04 JIZtN2Z2 X SE+ 1,500 2,250 AT50




2A:

B 2y
ol OIZ5IE(4 - SIEZAI S5 H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1)QIAH| JIZEMZ2Z2X LAIASH IR (S 4t
100,000 #5701 A3 1,500
201 er2 3| 88,900 180,470 A\61,570
01 AtR2te|HI 20,200 20,100 100
NEES SEreAds & g AX=
3,300,000 22| *30H A 19,800
NEL2EXE ISk A =22
50,0003 *4LH*22] 400
2 35234l 68,700 130,370 A\61,670
N2t SFUER—R)
500, 0002 «4CH*12& 24,000
NEa2etz fH2 32,400,000& 32,400
NEL2EXE RAIE4H
3,000,000 4CH 12,000
NEL2EXNE MA3US & A8
300,000 300
301 EtE2 NS 70,000 70,000
14 JIEt2a3 70,000 70,000
NEL =828 & Hels=+2 X3
70,000,000 70,000
ExMelE2d 144,436 87,336 57,100
201 Ler23 | 89,436 87,336 2,100
01 At2t2lt] 58,100 46,200 11,900
N+F3x 2e| FAEZ2OH [TL+
300,000& * 122 3,600
NEbdeld A28 M 7L
3,000,000 3,000
NE=XelAE SR €l
2,800,000 +82] 22,400
NE=Held =2l 60,0002 x3662 21,960
NE=Mald LA 60,0003 %119 7,140
02 S3=gHl 31,336 41,136 29,800
NE=Meld dIIMNEE
1,900,000~ 128 22,800
Nl MASL2
200,000& * 122 2,400
)£ Xl 2etxte(2.5t) |22l
1,000,000 1,000
N2 |RFU & HERX2el|
1,000,000 1,000
Nesxcld NE=(52) sA2cll
2,000,000& 2,000
NEJIetA e Y =2
178,000& * 12 2,136
206 MH=H| 18,000 18,000
01 M=4l 18,000 18,000




FA: Aot AIE A
g B=xd
ol OIZ5IE(4 - SIEZAI S5 H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NELXeld s=22el Al & I+
1,500,000& 122 18,000
401 AIZHIX R0 37,000 37,000
01 AlZH| 37,000 37,000
NE=Meld 828+l 30,000,000 30,000
NE:XMeld dd8s =L
3,500,000 22 7,000
HY 2L ZHI (Aot AL L) 102,841 9,444 6,397
oIHA2AY(& - St AIUSEIA) 83,681 76,394 7,287
el 2d| 83,681 76,3% 7,287
101 21A4H| 83,681 76,394 7,287
01 2= 83,681 76,3%4 7,287
NARIIZR+=Z(62)
12,531 +B8E*2BA1 2t 122 30,075
DAt 2R+2(72)
11,3193 7 *25A 1 2H« 123 23,770
NAIZIeIZ22+E(82)
10, 1622 x6E *25A1 2t 123 18,292
NARIIZR+=2(92)
9,620 x4 *25A| 2+ 123 11,544
Jl2Zl(& - St A SE3IH) 19,160 20,050 A890
Jl=3H] 19,160 20,050 A8%0
201 er23| 3,120 3,750 AB630
01 At2tltl 3,120 3,750 2630
NEM2Y ARl 120,000 x26& 3,120
202 04t 11,640 9,700 1,940
01 =LHOHI 11,640 9,700 1,940
NEA2S SUH0I 60,0003 x232 +83] 11,040
N2 YRFE U0
60,0002 18 x102] 600
203 HR=&H] 4,400 6,600 2,200
02 FRItAHA =AY 800 1,440 2640
1)10021015 40,0003 x20H 800
MU FAZSLRFAI 3,600 5,160 1,560
1)302! 015t 300,000 x 12 3,600




